BH 50 kEE (3£ 2 4H)
T H 4ok HE | 4HA] PERT| % |GE HFFi
7 BHH S0 k| 1 1
7 BHH 50 K| 1 2
7 BHH 50 K| 1 3
7 BHH 50 K| 1 6C BN 4
7 BHEE 50 KkEE| 1 6C ZE 5
7 BHH S50 K| 1 6
7 BHH 50 K| 1 7
7 S 50 oREE | 1 8
SBH 50 oKk (d 2 4H)
TH H 4wk HE | 4HA PERT| % |4E I3
7 FHES0REEl 2 | EH | 6A | [EEWH 1
7 BHES50REE 2 | H | 6A | [FHfME 2
7 BEHSsoREE| 2 | E | sc | HEH 3
7 BES0OREE| 2 | EH | 68 | HEH 4
7 BE S50 RkEE 2 | 5| 6B JEREO, 5
7 BES0OREEl 2 | | 6A | JEEUE 6
7 BES0REEl 2 | i | 6B | EHEE 7
7 BES0OREEl 2 | i | 6C | 8




